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Geometry . Due Date:
Geometry Final Review (Spring).
This review must be turned in the day of your final exam. I will not accept any reviews that are turned in late.
. If 2 § then x=12. 8 Use the figure to find mZCED. The figure is not
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4 The perimeter of a rectangle is52. The ratio of the

lengths of the sides is & : 7. What are the lengths of 10 A4BC is aright triangle. 4B = 2, FH
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13 Find the value of x. 20 The measure of each exterior angle of a regular

| ..
| X =40 x2=10(lw) demgonlSL-_
‘ y 2= HO(J? N=10 DL //'i“
i W o 21 _Wha.t is the sum of the exterior angles in a convex
‘ | 2 A Lo |3 = sided polygon? 2,0
eV —
' 14 An equilateral triangle has side lengths of 20. The
length of its altitude is IGE - 22 The measur‘e ofé each interior anglé of a regular
/ -y 3 ) A2 \ »00 PE“ lm,‘ls o*‘
) O 'f}(l yi O 20°% . a’i ! I ¢ ' /s\ o ) | ,} L = . e
/ 3 ) 0o ’{\\:5 2(10‘/\ In ' - (Q'Z)I»(’

136(1 - ly,'. (" ff"

,y“v 92 eA00 ,—‘ ",r 1 ..—-«rf
B r @-’--,:‘ii‘;;/ |= 108

) X =y 300 :

20 . .

15 Use the diagram to find the values of x and y. 23 The sum of the measures of th_e interior angles of a
convex heptdgon is 400!
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17 What is x to the nearest hundredth? (not drawn to / ;‘
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27 Choose the statement that is NOT ALWAYS true.
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30 Choose the figure below which satisfies the
definition of a kite Iapezoid: yVechargie ,und guate.
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31 For the trapezoid shown below, the measure of the

midsegmentis 2§ .
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33 If all four sides of a quadrilateral are congrﬁént, the
quadrilateral is @ (;&)Qm. bus
34 A segment with endpoints on a circle is a U\OKA

35 If acircle has a diameter of (¢, then it has .
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36 Identify two chords.
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37 You are standing at point B. Point B is20feet from
the center of the circular water storage tank and |5

feet from point 4. ABis tangent to ©O at 4. Find
the radius of the tank. Y= 8 {7 0 13 .2
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39 A wooden wagon wheel has {p equally spaced
spokes radiating from the central hub.

What is the measure of the angle that determines .
the separation between. two adjacent spoke holes? o
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.40 Given AC bisécts BD , choose the true statement
that refers to the figure.
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42 Use the diagram to ﬁ;1d the value of x. : :
e X= bk
X 3012

243" =2Ug X = 24T -112
| Xzl
43 Use the diagram to find m DEF. A~
m DEF =240

m et = al 120)
=240’ /

M<PA&=43 °
.o

2y =24 pSR=4(12) -5
= i 4 —5
\J I2 -
i "’ e 5




45 Use the diagram to fmdm/A—D\ W‘;S =40’
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% 52 Find the area of the quadrilateral. (not drawn to
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54 What is the area of the shaded region in the
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55 The figure below is made up of two squares with
the areas shown. What is the length of x? X=100

10
30 |
Hqo0 |, X =T0t30
Lind I SV
—a—

56 The area of the quadrilateral is 2] L u*

50 Kk =%2(20450)

-
=~

32 [=1210 |

57 The area of a regular octagon is 20 cm?. What is
the area of a regular octagon with sides five times
as large as the sides of the first octagon? £00 um >
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58 The ratio of the side lengths of two regular

hexagons is § toJ2If the area of the smaller
hexagon is {@ square units, then the area of the

larger hexagon is |69, ]
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59 Find the length of a 30®arc in a chéle with a radius
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66 Find the surface area of the lateral faces on the
regular pyramid below. §40 £+ *
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61 Find the area of an equilateral triangle with side
length (2. A=3w(z
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62 "A regular hexagon has a side length ofa. Its area is
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63 What is the area of a regular pentagon if its

apothem has a Tength of <] feet and each side has a
length of §,2 feet? A=iwl €42
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69 Find the volume of the right E%Ia_n—{ ular V=400 m?3
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% 65 Find the surface area of the cylinder to the nearest
Y njsquare unit. Use 7~3.14. $2929m*>
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71 Find the exact volume of a cylinder that has a
height of |@ inches and a radius of \sinches.
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72 Calculate the volume of the cone. Use 7~ 3.14. V = |1 em ®
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* 74 Find the volume of a sphere l ft in diameter. Use V=243 Lt
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